Quiz 7
Overcalls

1. RHO (right hand opponent) opened with 1¥. What do you overcall with these hands

a KQJ762 s A108 A J10642 A A8 a AQJ8653 & 1043

v 96 v KQ8 v 963 v 754 v7 v -

¢ 842 ¢+ QJ9 + A863 ¢ AQJ976 ¢ 96 * A2

% K73 % KQ62 ® Q & 985 % 1042 ®» KQJ97642
Bid 1a INT PASS 2¢ 24 S

2. Partner has overcalled 14 with 1a. What do you do with these hands?

a 8532 a KJ97 A 84 a K72 A 65 Ab
v 974 v 1065 v Q96 v A873 v KQ103 v AQ862
¢ A4 ¢ AQ72 ¢ K1062 + K106 ¢+ AJ62 ¢ A9743
& 9762 &« K5 & 10983 & 1083 & KQG6 ® 84

Bid PASS 44 PASS 24 3NT PASS

3. Partner has overcalled 1NT. What should you bid with these hands?

a AK2 A QJ8743 A 875 A J3 A KQ1083 & KJ9

v Q106 v 95 v J962 v AK9642 v 86 v K9

¢ J1086 ¢ 107 ¢+ A86 ¢+ Q72 ¢ 976 ¢ 975

% 10954 % 952 * K96 * 96 ® A94 & KJ1093
Bid 3NT 24 2 4v 3a 3NT

4. RHO (right hand opponent) opened with 1¥. What do you call with these hands?

A AK98 a KQ975 A 94 A A96 A AKQ4 a Q963
v6 v 62 v5 v 10652 v 10954 v KJ6
¢+ AQ84 ¢ KJ763 ¢+ AQ864 ¢+ KQ86 ¢ QJ5 ¢+ KQ8
% J1082 ® A % KQ973 % K10 * J6 » AQ8
Bid X 2v 2NT PASS PASS INT

5. The bidding has gone 1¢ X Pass. What do you call with these hands?

a 10965 A AQ1095 & K84 A 975 A A98 a AJ10

v K754 v Q84 v A98 v 86 v 1072 v KJ98

¢ 86 ¢ 532 ¢ 76 ¢ KQ1098 ¢ KJ42 ¢ 96

& 963 &% AK % KJ1085 & Q87 &% 975 % AQ108
Bid lv 44 3% PASS 2NT 2¢
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